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QUESTION 1

Given the code fragment: 

Which code fragment, when inserted at line n1, enables the code to print the count of string elements whose length is
greater than three? 

A. listVal.stream().filter(x -> x.length() > 3).count() 

B. listVal.stream().map(x -> x.length() > 3).count() 

C. listVal.stream().peek(x -> x.length() > 3).count().get() 

D. listVal.stream().filter(x -> x.length() > 3).mapToInt(x -> x).count() 

Correct Answer: A 

Gives the correct output of 2. Incorrect Answers: 

B: Output is 4. 

C, D: Does not compile. 

 

QUESTION 2

Given the code fragment: 
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What change must you make to enable the code to print the following output? 1 2 3 4 5 6 7 8 1 2 3 4 5 6 7 8 

A. Replace line 8 with .peek(e -> { myList.add(e); }). 

B. Replace line 7 with .stream(). 

C. Replace line 12 with .parallelStream(). 

D. Replace line 13 with .forEachOrdered(e -> System.out.print(e + " "));. 

Correct Answer: B 

Incorrect Answers: 

A: Uncompilable source code - Erroneous sym type at line forEachOrdered(e -> System.out.print(e + " ")); 

 

QUESTION 3

Given: and the code fragment: 

Which code fragment, when inserted at line n1, enables the Birdie class to compile? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

 

QUESTION 4

Given the code fragment: 
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What is the result? 

A. [x, x] [x, x, x, x] 

B. [x] [x, x] [x, x, x] 

C. [x] [x, x] [x, x, x] [x, x, x, x] 

D. [x, x] 

Correct Answer: A 

 

QUESTION 5

Given: 
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and the code fragment: 

Which two code fragments, when inserted at line n1 independently, enable the code print TruckCarBike? (Choose two.) 

A. .sorted(Comparable.comparing(Vehicle::getVName)).reversed() 

B. .sorted((v1, v2) -> Integer.compare(v1.getVId(), v2.getVId())) 

C. .sorted((v1, v2) -> v1.getVId() 

D. .map(v -> v.getVId()) .sorted() 

E. .sorted(Comparator.comparing((Vehicle v) -> v.getVId())) 

Correct Answer: BE 
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